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113+1+5+4+2+4+1=

2]3+2+2+1+4+2+1=

3]3+4+1+2+1+3+2=
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102+5+1+2+3+2+1=
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2 T3F+FO0OF+O0+3+3+1=

14+3+5+4+5+1+4=

2TO0+1+1+3+2+5=

2T 1 +1+2+2+2+3=

ST+2+F3+4+2+-5+05=

1+1+0+2+4+2+1=

3+4+5+4+5+2+3=

2T 1 +0+2+05+2+4=

2+5+5+4+4+4+1=

STOF+2+0+3+4+2=
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3T1T014+2+4+1=20

3t2T2t114+211=150
3t4+1+211+312=16
11212131274+3=17
213121 131214=17
3T0T21272+t111=16
0111210713 1013=24
b+d+3+212+111=19
brd+1+3101114=22

210T1+2131211=16
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213T010T313711=22
1131074107114=23
210711+1+131270=19
21171121212+3=13
3T2T3t4+2+010=24
It1101214+2+1=160
3147014101213 =26
2117012101 214=21
210710T41414+1=25

3ToT2t0T3t4+2=24
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